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BOOKS - A N EXCEL PUBLICATION

THREE DIMENSTIONAL GEOMETRY

Question Bank

1. Consider the points A(0,0,2) and B(3,0,1) . Write

direction ratio of the joining A and B.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Z6XRJrXw4d0c


2. Consider the points A(0,0,2) and B(3,0,1) . Find the

direction cosines of the 

line passing through the given points.

Watch Video Solution

3. Suppose  are the angles made a line with the

three axes respectively. Fill in the blank by choosing the

correct answer from the barcket

= ….. (2,0,1,3)

Watch Video Solution

α, β, γ

cos2 α + cos2 β + cos2 γ

https://dl.doubtnut.com/l/_oHkvS0HVOPml
https://dl.doubtnut.com/l/_V8JMf307T2lB


4. If a line makes  with x,y,z axis respectively, then

prove that 

Watch Video Solution

α, β, γ

sin2 α + sin2 β + sin2 γ = 2

5. Consider the points A(3,2,4), B(5,8,0) and C(4,5,2).Find

the direction ratio of AB and BC. Hence, prove the A, B, C

are collinear.

Watch Video Solution

6. Consider the points A(3,2,4), B(5,8,0( and C(4,5,2).

Using only distance formula 

https://dl.doubtnut.com/l/_AhQAUUUiK0hw
https://dl.doubtnut.com/l/_dBArJbWC4qS9
https://dl.doubtnut.com/l/_rAMqLzjpuBQs


prove that A, B and C are collinear. Also prove that C is

the mid point of AB.

Watch Video Solution

7. If a lne makes angles.  with the x,y and

Z−axes respectively, find its direction cosines.

Watch Video Solution

90∘ , 135∘ , 45∘

8. If a line makes angles.  with the x, y and

z axes respectively, 

find its direction cosines

Watch Video Solution

90∘ , 60∘ , 30∘

https://dl.doubtnut.com/l/_rAMqLzjpuBQs
https://dl.doubtnut.com/l/_mzA8fw1arYXc
https://dl.doubtnut.com/l/_sSIxNF1hyM11


9. Find the direction cosine of a line which makes equal

angles 

with the co-ordinate axes.

Watch Video Solution

10. If a line has the direction ratios '-18,(12) ,-4', then what

are its directión cosines?

Watch Video Solution

11. Show that the points (2,3,4), (-1,-2,1), (5,8,7) are colinear

Watch Video Solution

https://dl.doubtnut.com/l/_sSIxNF1hyM11
https://dl.doubtnut.com/l/_BBOQFQrl4kTZ
https://dl.doubtnut.com/l/_vjO8RD11n2vw
https://dl.doubtnut.com/l/_5jgH6HhlT0sr


12. Find the direction cosines of the sides of the triangle

whose vertices are '(3,5,-4),(-1,1,2)' and '(-5,-5,-2)'

Watch Video Solution

13. Find direction cosines of the line passing through the

poins P(-2, 4, -5) and

C(1, 2, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_5jgH6HhlT0sr
https://dl.doubtnut.com/l/_ciKFoANcQjXB
https://dl.doubtnut.com/l/_v4TPcFHeLxV2


14. Show that the three lines with direction cosines

 are

mutually perpendicular.

Watch Video Solution
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15. Show that the line through the points (1,-1,2), (3,4,-2)

is perpendicular 

to the line through the points (0,3,2) and (3,5,6).

Watch Video Solution

https://dl.doubtnut.com/l/_AtMGetyghk8K
https://dl.doubtnut.com/l/_a0bxhg8SdI0z


16. Find the equation of the line through the points (-1,

-2, 1) and (1, 2, 5).

Watch Video Solution

17. Find the equation of the line which passes through

the point '(1,2,3)' and is parallel to the vector '3 hati+2

hatj-2 hatk'.

Watch Video Solution

18. Find the equation of the line in vector and in

cartesian form that passes through the point with

https://dl.doubtnut.com/l/_w2RFoFlIhvxk
https://dl.doubtnut.com/l/_pSR3ZjJcVDkg
https://dl.doubtnut.com/l/_t8VMV7A22Ixz


position vector '2 hati-hatj+4 hatk' and is in the direction

'hati+2 hatj-hatk'.

Watch Video Solution

19. Find the cartersian equation of the line which passes

through the point (-2, 4, -5) 

and parallel to the line given by

Watch Video Solution

= =
x + 3

3

y − 4

5

z + 8

6

20. The cartestian equation of a line is

. Write its vector form.= =
x − 5

3

y + 4

7

z − 6

2

https://dl.doubtnut.com/l/_t8VMV7A22Ixz
https://dl.doubtnut.com/l/_kjFY5M0BEt8p
https://dl.doubtnut.com/l/_bb9HhEotWj2P


Watch Video Solution

21. Find the vector and the cartesian equation of the

lines that passes through the origin and '(5,-2,3)'

Watch Video Solution

22. Find the vector and the cartesian equations of the

lines that passes through 

the points (3, -2, -5) and (3, -2, 6)

Watch Video Solution

https://dl.doubtnut.com/l/_bb9HhEotWj2P
https://dl.doubtnut.com/l/_bzAJnbIgpUcX
https://dl.doubtnut.com/l/_QZlS8kJLZpPl


23. Find the angle between the pair lines 

 and 


Watch Video Solution

r̄ = 2i − 5j + k + λ(3i + 2j + 6k)

r̄ = 7i − 6k + μ(i + 2j + 2k)

24. Find the angle between the following pairs of lines.

 


Watch Video Solution

→
r = 3 î + ĵ − k̂ + λ( î − ĵ − k̂)

→
r = 2 î − ĵ − 56k̂ + μ(3 î − 5ĵ − 4k̂)

https://dl.doubtnut.com/l/_t9ovOURl7dKE
https://dl.doubtnut.com/l/_uiIocPd9HbT1


25. Find the angles between the lines 

 and

Watch Video Solution

= =
x − 2

2

y − 1

5

z + 3

−3

= =
x + 2

−1

y − 4

8

z − 5

4

26. Find the angle between the following pairs of lines.

 and 

Watch Video Solution

= =
x

2

y

2

z

1
= =

x − 5

4

y − 2

1

z − 3

8

27. Find the values of p so that the lines

 and = =
1 − x

3

7y − 14

2p

z − 3
2

https://dl.doubtnut.com/l/_h4yO2f4DYXGw
https://dl.doubtnut.com/l/_Qv3uaZGXkrql
https://dl.doubtnut.com/l/_lhI2YgTBcSmS


 are at right angles.

Watch Video Solution

= =
7 − 7x

3p

y − 5

1

6 − z

5

28. Find the shortest distance between the 

lines whose vector equations are 

 and 


Watch Video Solution

→
r = (i + 2j + 3k) + λ(i − 3j + 2k)

→
r = (4i + 5j + 6k) + μ(i − 3j + 2k)

29. Find the shortest distance between the lines

 and →
r = (1 − t) î + (t − 2) ĵ + (3 − 2t)k̂

→
r = (s + 1) î + (2s − 1) ĵ − (2s + 1)k̂

https://dl.doubtnut.com/l/_lhI2YgTBcSmS
https://dl.doubtnut.com/l/_LiBjCIcrmTit
https://dl.doubtnut.com/l/_XmGJo2YbzVSV


Watch Video Solution

30. Consider the plane passing through (2, 3, 5) and

perpendiular to the vector 

 Find the vector equation of the plane

Watch Video Solution

4 î + 2ĵ − 3k̂

31. Consider the plane passing through (2, 3, 5) and

perpendiular to the vector 

 Find the cartesian equation of the plane

Watch Video Solution

4 î + 2ĵ − 3k̂

https://dl.doubtnut.com/l/_XmGJo2YbzVSV
https://dl.doubtnut.com/l/_w7BJjsbt6Lw8
https://dl.doubtnut.com/l/_JICgmV6kZ23z


32. Consider a plane passing through the points A(-2, 6,

-6), B(-3, 10, -9) and C(-5, 0, -6) Find the equation of the

plane

Watch Video Solution

33. Consider a plane passing through the points A(-2, 6,

-6), B(-3, 10, -9) and C(-5, 0, -6)

Find the direction cosine of the normal to the plane.

Watch Video Solution

34. Find the eqauation of the plane through the points

(2, 1, -1) and (-1, 3, 4) 

https://dl.doubtnut.com/l/_ChFrSQGp3vWH
https://dl.doubtnut.com/l/_98iOFGeMYPzR
https://dl.doubtnut.com/l/_gn3wyuRYbnvk


and perpendicualr to the plane x-2y+4z=10.

Watch Video Solution

35. Consider the points A(2, 2, 1) and B(9, 3, 6) and the

plane 2x+6y+6z-1=0. Find the equation of the plane

passing through A and B and perpendicular to the given

plane.

Watch Video Solution

36. Find the equation of the plane that contains the

point (1, -1, 2) and is perpendicualr 

to each of the planes 2x+3y-3z=5 and x+2y-3z=8

https://dl.doubtnut.com/l/_gn3wyuRYbnvk
https://dl.doubtnut.com/l/_Ge8yX6ho5i7o
https://dl.doubtnut.com/l/_yWkeCFMZSmfG


Watch Video Solution

37. Suppose that a plane meets the co-ordinate axes at

A, B, C such that the centroid of  is (3, 3, 3). If

the intercepts made by the plane with the axes be a, b, c

respectively, find the co-ordinates of A, B, C. Hence find

the equation of the plane.

Watch Video Solution

△ ABC

38. Find the vector equation of the plane passing

through the intersection of the planes

 and  at

the point (1,1,1) .

r̄. ( î + ĵ + k̂) = 6 r̄. (2 î + 3ĵ + 4k̂) = − 5

https://dl.doubtnut.com/l/_yWkeCFMZSmfG
https://dl.doubtnut.com/l/_WqGlDExIlfxV
https://dl.doubtnut.com/l/_xI57KkN6dSgO


Watch Video Solution

39. Consider a point P(-2, -1, -4) and the plane

 Write the cartesian equation

of the given plane. Hence, find the perpendicular

distance of P from the plane.

Watch Video Solution

→
r . (3 î + 4ĵ + 5k̂) = 10.

40. Consider a point P(-2, -1, -4) and the plane

 Find the distance between

the given plane and the plane 6x+8y+10z=3

Watch Video Solution

→
r . (3 î + 4ĵ + 5k̂) = 10.

https://dl.doubtnut.com/l/_xI57KkN6dSgO
https://dl.doubtnut.com/l/_whc9Bdzt7NyP
https://dl.doubtnut.com/l/_QRD8Q7AKbmqZ


41. Consider the line  and the

plane 2x+4y-z=3. 

Find the point of intersection of the line and the plane.

Watch Video Solution

= =
x − 1

2

y − 2

−3

z + 5

4

42. Consider the line

 and the plane 

. Find a vector parallel to the

line and 

a vector normal to the plane.

Watch Video Solution

→
r = ( î + 2ĵ − k̂) + λ(2 î + ĵ + 4k̂)

→
r . ( î − 6ĵ + k̂) + 12 = 0

https://dl.doubtnut.com/l/_nqT0fZ6VixGq
https://dl.doubtnut.com/l/_d55oBVCjWxbZ
https://dl.doubtnut.com/l/_3Ji29LttnbKR


43. Consider the line

 and the plane 

.Prove that the line lies on

the plane.

Watch Video Solution

→
r = ( î + 2ĵ − k̂) + λ(2 î + ĵ + 4k̂)

→
r . ( î − 6ĵ + k̂) + 12 = 0

44. Determine the direction cosines of the normal to the

plane and the distance from the origin. 

z = 2.

Watch Video Solution

https://dl.doubtnut.com/l/_3Ji29LttnbKR
https://dl.doubtnut.com/l/_OCJPxl3MTHAp


45. Determine the direction cosines of the normal to the

plane and the distance from the origin 

x + y + z = 1.

Watch Video Solution

46. Determine the direction cosines of the normal to the

plane and the distance 

from the origin 2x + 3y - z = 5.

Watch Video Solution

47. Determine the direction cosines of the normal to the

plane 

https://dl.doubtnut.com/l/_PdUfal4Pw11K
https://dl.doubtnut.com/l/_qifwG28QOTPZ
https://dl.doubtnut.com/l/_Z7HV7xR80Gn1


and the distance from the origin 5x + 8 = 0.

Watch Video Solution

48. Find the vector equation of a plane which is at a

distance of 7 units from the 

origin and normal to the vector 

Watch Video Solution

3 î + 5ĵ − 6k̂

49. Find the cartesian equation fo the following planes.

Watch Video Solution

→
r . ( î + ĵ − k̂) = 2

https://dl.doubtnut.com/l/_Z7HV7xR80Gn1
https://dl.doubtnut.com/l/_IDbnfawJxwLz
https://dl.doubtnut.com/l/_Wmk1hVF63ftp
https://dl.doubtnut.com/l/_pSFbQKF82Txm


50. Find the cartesian equation fo the following planes.

Watch Video Solution

→
r . (2 î + 3ĵ − 4k̂) = 1

51. Find the cartesian equation fo the following planes.

Watch Video Solution

→
r . [(s − 2t) î + (3 − t) ĵ + (2s − t)k̂] = 15

52. Find the co-ordinates of the foot of the

perpendicular drawn from

the origin. 2x + 3y + 4z - 12 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_pSFbQKF82Txm
https://dl.doubtnut.com/l/_JbX3gXLO4uz8
https://dl.doubtnut.com/l/_rbmqEvwMBGAF


53. In the following cases, find the co-ordinates of the

foot of the perpendicular 

drawn from the origin. 3y + 4z - 6 = 0

Watch Video Solution

54. Find the co-ordinates of the foot of the

perpendicular 

drawn from the origin. x + y + z = 1

Watch Video Solution

https://dl.doubtnut.com/l/_rbmqEvwMBGAF
https://dl.doubtnut.com/l/_VAkyrWioeROP
https://dl.doubtnut.com/l/_1lXiQiISTICy


55. Find the co-ordinates of the foot of the

perpendicular drawn from the origin. 5y + 8 = 0

Watch Video Solution

56. Find the vector and cartesian equations of the plane

that passes through 

the point (1, 0, -2) and normal to the plane is 

Watch Video Solution

î + ĵ − k̂

57. Find the vector and cartesian equations of the plane

that passes through 

the point (1, 4, 6) and normal to the plane is î − 2ĵ + k̂

https://dl.doubtnut.com/l/_W1xmD3zCwTd2
https://dl.doubtnut.com/l/_5RBnPbGhki4A
https://dl.doubtnut.com/l/_uIuhEfGRmyG6


Watch Video Solution

58. Find the equation of the planes that pass through

the points..

(1, 1, -1), (6, 4, -5), (-4, -2, 3)

Watch Video Solution

59. Find the equation of the planes that pass through

the points... 

(1, 1, 0), (1, 2, 1), (-2, 2, -1)

Watch Video Solution

https://dl.doubtnut.com/l/_uIuhEfGRmyG6
https://dl.doubtnut.com/l/_VWUGtAgwYhZJ
https://dl.doubtnut.com/l/_LYhRCybcOAEN
https://dl.doubtnut.com/l/_QVhPHCNaK6xk


60. Find the intercepts cut off by the plane 2x + y - z = 5

Watch Video Solution

61. Find the equation of the plane with intercept 3 on

the y-axis and parallel to ZOX plane.

Watch Video Solution

62. Find the equation of the plane through the

intersection of the planes  and 

 and the point (2,2,1)`

Watch Video Solution

3x − y + 2z − 4 = 0

x + y + z − 2 = 0

https://dl.doubtnut.com/l/_QVhPHCNaK6xk
https://dl.doubtnut.com/l/_aI2u7wpEwW4H
https://dl.doubtnut.com/l/_gb7zHdagnLza
https://dl.doubtnut.com/l/_icbX9oPvVW1A


63. Find the vector equation of the plane passing

through the intersection of the palnes

 and

through the point (2, 1, 3)

Watch Video Solution

→
r . (2 î + 2ĵ − 3̂k) = 7,

→
r . (2 î + 5ĵ + 3k̂) = 9

64. Find the equation of the plane through the line of

intersection of the planes x+y+z=1 and 2x+3y+4z=5 which

is perpendicular to x-y+z=0

Watch Video Solution

https://dl.doubtnut.com/l/_icbX9oPvVW1A
https://dl.doubtnut.com/l/_KEbMX8ahFJZD


65. Find the angle between the planes whose vector

equations are

 and 

Watch Video Solution

→
r . (2 î + 2ĵ − 3k̂) = 5

→
r . (3 î − 3ĵ + 5k̂) = 3

66. Determine whether the given planes are parallel or

perpendicular and in case they are neither, find the

angle between them : 7x+5y+6z+30=0 and 3x-y-10z+4=0

Watch Video Solution

67. Determine whether the given planes are parallel or

perpendicular and in case they are neither, find the

https://dl.doubtnut.com/l/_Qo2D8HumgY3l
https://dl.doubtnut.com/l/_yiRsqo6w2Blp
https://dl.doubtnut.com/l/_qJCOlL90kmH6


angle between them : 2x+y+3z-2=0 and x-2y+5=0

Watch Video Solution

68. In th following cases, determine whether the given

planes are parallel or perpendicular and in case they are

neither, find the angle between them 2x-2y+4z+5=0 and

3x-3y+6z-1=0

Watch Video Solution

69. In th following cases, determine whether the given

planes are parallel or perpendicular and in case they are

https://dl.doubtnut.com/l/_qJCOlL90kmH6
https://dl.doubtnut.com/l/_2zD5hNEzlQx4
https://dl.doubtnut.com/l/_6EmigNuOrBkn


neither, find the angle between them (d) 2x-y+3z-1=0 and

2x-y+3z+3=0

Watch Video Solution

70. In th following cases, determine whether the given

planes are parallel or perpendicular and in case they are

neither, find the angle between them 4x+8y+z-8=0 and

y+z-4=0

Watch Video Solution

71. In the following cases, find the distance of each of the

given point from the corresponding given plane

https://dl.doubtnut.com/l/_6EmigNuOrBkn
https://dl.doubtnut.com/l/_ZmPMQuFbwmt8
https://dl.doubtnut.com/l/_7rLnwl8q6FkV


(0,0,0) : 3x-4y+12z = 3

Watch Video Solution

72. In the following cases, find the distance of each of

the given point from the corresponding given plane 

(3,-2,1) : 2x-y+2z+3 = 0

Watch Video Solution

73. In the following cases, find the distance of each of

the given point from the corresponding given plane

(2,3,-5) : x+2y-2z = 9

Watch Video Solution

https://dl.doubtnut.com/l/_7rLnwl8q6FkV
https://dl.doubtnut.com/l/_xaZ9wmiIiI0o
https://dl.doubtnut.com/l/_quO8T1rchtP6


74. In the following cases, find the distance of each of

the given point from the corresponding given plane 

(-6,0,0) : 2x-3y+6z-2 = 0

Watch Video Solution

75. Show that the line joining the origin to the point (2,

1, 1) is perpendicular to the line determined by the

points (3, 5, -1), (4, 3, -1)

Watch Video Solution

https://dl.doubtnut.com/l/_quO8T1rchtP6
https://dl.doubtnut.com/l/_KTkbHCubLlDL
https://dl.doubtnut.com/l/_LbQZF4qP2ujT


76. If  and  are the direction cosines

of two mutually perpendicular lines, show that the

direction cosines of the line perpendicular to both of

these are 

Watch Video Solution

l1, m1, n1 l2, m2, n2

m1n2 − m2n2, n1l2 − n2l1, l1m2 − l2m1

77. Find the angle between the lines whose direction

ratios are a, b, c and b-c, c-a, a-b

Watch Video Solution

78. Find the equation of a line parallel to x-axis and

passing through the origin

https://dl.doubtnut.com/l/_cV3k8RVmcSEv
https://dl.doubtnut.com/l/_1JqOxg8JWnzx
https://dl.doubtnut.com/l/_bcBrfJISEOUc


Watch Video Solution

79. If the co-ordinates of the points A, B, C, D be (1,2,3),

(4,5,7) (-4,3,-6) and (2,9,2) respectively, then find the angle

between the lines AB and CD

Watch Video Solution

80. If the lines

are perpendicular, then find the value of k.

Watch Video Solution

= = and = =
x − 1

−3

y − 2

2k

z − 3

2

x − 1

3k

y − 1

1

z − 6

−5

https://dl.doubtnut.com/l/_bcBrfJISEOUc
https://dl.doubtnut.com/l/_a2QUXeFEeIlY
https://dl.doubtnut.com/l/_SL55HDQEPlJN
https://dl.doubtnut.com/l/_iAXSnjLkRqNH


81. Find the vector equation of the line passing through

(1,2,3) and 

perpendicular to the plane 

Watch Video Solution

→
r . ( î + 2ĵ − 5k̂) + 9 = 0

82. Find the eqation of the plane passing through (a,b,c)

and parallel to the plane 

Watch Video Solution

→
r . ( î + ĵ + k̂) = 2

83. Find the shortest distance between the lines

 and →
r = 6 î + 2ĵ + 2k̂ + λ( î − 2ĵ + 2k̂)

→
r = − 4 î − k̂ + μ(3 î − 2ĵ − 2k̂)

https://dl.doubtnut.com/l/_iAXSnjLkRqNH
https://dl.doubtnut.com/l/_NxbSiUd0xWEz
https://dl.doubtnut.com/l/_aUjeuDhLe2HM


Watch Video Solution

84. Find the co-ordinates of the point where the line

through (5,1,6) and (3,4,1) 

crosses the YZ plane

Watch Video Solution

85. Find the co-ordinates of the point where the line

through (5,1,6) and (3,4,1)

crosses the ZX plane

Watch Video Solution

https://dl.doubtnut.com/l/_aUjeuDhLe2HM
https://dl.doubtnut.com/l/_mf8MSc76XMxZ
https://dl.doubtnut.com/l/_S64OeEfhM6Zh


86. Find the co-ordinates of the point where the line

through (3, -4, -5) and (2, -3, 1) 

crosses the plane 2x+y+z=7.

Watch Video Solution

87. Find the equation of the Plane passing through one

point (-1,3,2) and  r to the planes 

and 

Watch Video Solution

⊥ x + 2y + 3z = 5

3x + 3y + z = 0

88. If the points (1,1,p) and (-3,0,1) be equidistant from the

plane , then find the→
r . (3 î + 4ĵ − 12k̂) + 13 = 0

https://dl.doubtnut.com/l/_EsNPS9QSdGDT
https://dl.doubtnut.com/l/_J2eHuBI3ERLT
https://dl.doubtnut.com/l/_9x2FI9LoBWEJ


value of p

Watch Video Solution

89. Find the equation of the plane passing through the

line of intersection of the planes 

and  and parallel to  -axis.

Watch Video Solution

→
r . ( î + ĵ + k̂) = 1

→
r . (2 î + 3ĵ − k̂) + 4 = 0 x

90. If O be the origin and the co-ordinates of P be (1,2,-3),

then find the equation of the plane passing through P

and perpendicular to OP.

Watch Video Solution

https://dl.doubtnut.com/l/_9x2FI9LoBWEJ
https://dl.doubtnut.com/l/_KcJFnlBx9IMw
https://dl.doubtnut.com/l/_cl6AZl82P4q7


91. Find the equation of the plane which contains the

line of 

intersection of the planes , 

 and which is perpendicular 


to the plane 

Watch Video Solution

→
r . ( î + 2ĵ + 3k̂) − 4 = 0

→
r . (2 î + ĵ − k̂) + 5 = 0

→
r . (5 î + 3ĵ − 6k̂) + 8 = 0

92. Find the distance of the point 

from the point of intersecțion of the line

 and the plane

Watch Video Solution

( − 1, − 5, − 10)

→
r = (2 î − ĵ + 2k̂) + λ(3 î + 4ĵ + 2k̂)

→
r . ( î − ĵ + k̂) = 5

https://dl.doubtnut.com/l/_cl6AZl82P4q7
https://dl.doubtnut.com/l/_pKU9EUtZSXCO
https://dl.doubtnut.com/l/_rGPAjKFt8dBg


93. Find the vector equation of the line passing through

 and parallel to the planes


 and 

Watch Video Solution

(1, 2, 3)

→
r . ( î − ĵ + 2k̂) = 5

→
r . (3 î + ĵ + k̂) = 6

94. Find the vector equation of the line passing through

the point (1,2,-4) and perpendicular to the two lines

 and 

Watch Video Solution

= =
x − 8

3

y + 19

−16

z − 10

7

= =
x − 15

3

y − 29

8

z − 5

−5

https://dl.doubtnut.com/l/_rGPAjKFt8dBg
https://dl.doubtnut.com/l/_AQofC8Gy9jSn
https://dl.doubtnut.com/l/_CAF58V93ecG9


95. Prove that if a plane has the intercepts a, b, c and it is

at a distance p units 

from the origin, then 

Watch Video Solution

+ + =
1

a2

1

b2

1

c2

1

p2

96. Distance between the two planes: '2 x+3 y+4 z=4' and

'4 x+6 y+8 z=(12)' is

A. 2 units,

B. 4 units

C. 8 units

D.  units
2

√29

https://dl.doubtnut.com/l/_IeFxAECNj3AV
https://dl.doubtnut.com/l/_GDQv8OrCBEVR


Answer:

Watch Video Solution

97. Choose the correct answer. The planes 2x-y+4z=5 and

5x-2.5y+10z=6 are
a)perpendicular
b)parallel
c)intersect y-

axis
d)passes through (0, 0, 5/4)

A. perpendicular

B. parallel,

C. intersect y-axis,

D. passes through (0, 0, 5/4)

Answer: Since , the direction= = =
2

3

−1

−2.5
4
10

1

2.5

https://dl.doubtnut.com/l/_GDQv8OrCBEVR
https://dl.doubtnut.com/l/_4DN5plIlT4DJ


ratios of the normals to the given planes are

proportional 

 Th normals are parallel. Hence, the planes are

parallel 

 The answer is (B)

Watch Video Solution

∴

thref or e

https://dl.doubtnut.com/l/_4DN5plIlT4DJ

